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Distinguish between implicit function

and explicit function. Map the following

function : 3+2=5
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Define Quas-convex.
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Given the following averag,
function, find the Margin,, Coy,
function : Coy

AC = 100-1004-(%)@2

any four from the following
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k8 function Y =logx, prove that

where Q is the level of outpyt Prody, dy _ 1 Also find the limit of the
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Mention the condition under wh;y, the —
x—0 x“ +x-30

technique of total differentiation j5 useq
Also explain the statement, "Integratior;
is the reverse process of differentiati,, »
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f the production function
Q=40L+3L% -13

vhere L is the employment of labour,
ind the size of labour to give maximum
putput. Also show that if demand curve
is linear, marginal revenue is half of
average revenue at output g. 5+5=10
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Explain the necessity of integrating
the demand curve for finding out
consumer’s surplus.
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i ummmp=no_x;
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@ If the demand function is
G, =S0-2A +3P, +0-2Y, then find
the price elasticity and income
elasucty, where Y =500and R =2

Q =50-2R +3P, +0-2Y
= Ferer v =3 R B
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fbcwtalcostofaﬁrmisgivmby
C.—_SOOO—IS‘I‘-‘SQZ- Find the level
of output at which the slope of

the average cost is zero.

= TR P 75 C=5000-15g+5¢2.

IITER TF W T2

Obtain consumer's surplus of the
following demand function, given
the market price :
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If the marginal revenue function [
' 6 *

{ x is given by MR=—___ .
outpu (x+2;2 ;
ind the total revenue function and

the demand function.
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For the following production functio,
O=al® +bL? +cL +d, what restrictior
a, b, ¢ and d will follow to have 2 true
form of cubic production function?
Also find at what level of labour (L), the
total output will be maximum.
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